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Q1) Choose the correct answer:

1. Animal’s diet can be recognized by looking at their . (mouth, eyes, tooth)

2. are meat eaters. (Herbivores, Carnivores, Omnivores)

3. Meat eaters have types of teeth. (3 2 4

4. Cows, goats and rabbits are eaters. (meat, plant, sweets)

5. The teeth of meat eaters are from plant eaters. (similar, different, same)
6. The type of teeth which is short and pointed are called . (molars, premolars,
7. The molars are , to grind the food. (zigzag, jagged, plain)

8. Different shape teeth have jobs. (different, similar, opposite)

9. We have canines. (8, 4, 3)

10. Humans are . (Herbivores, Carnivores, Omnivores)

incisors)



Answer Key

1. teeth

2. herbivores

4. Plant

5. different

6. Incisors

7. Jagged

8. Different

10. Omnivores



